
Test 1a:
- MPC "RBE2": all DOFs of all dependent nodes constrained
- independent node constrained by displacement in 12345 in Euler cylindrical Coord
- Result: Free Fall

Test 1b:
- MPC "RBE2": all DOFs of all dependent nodes constrained
- independent node constrained by displacement in 12345 in global Coord
- Result: Free Fall





Test 2:
- all nodes constrained in R

- Result: fully constrained





Test 3:
 - all nodes constrained in R, and 3 random 
nodes constrained in Z
- Result: fully constrained
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